
Math 4300

EHomework 10

Solutions



*A =(0,0),B =(- 1,1),c =(1,1).
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=60 +608 +60 =1860



8a)A =(1,2),B
=(1,4), =(3,4)
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wa need TBA and TBc.

Since BA=iL is a vertical line we
have

TBA =(0,3x
- ys) =(0,z

- 4) =(0,
-2)

Since
5 =

zitis
a
non-vertical dine

and the vertex
B is tothe

leftofC,

ie XiXc
We have

TB
=(YB,c - x3)

=(4,z - 1)
=(4,1)

The picture is below.
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al Firstwe need the lines

that these points lie on.

C =(3,4) One can show that-- B =o L

**latem(ABC).
We need TBA and TBC:

-

BA is a vertical line so Thx =(0,3x
- yz)

=(0,1 - 5)

=(0, - 4)
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Then,

mr(ABC)
=cos(ch)

I
=cos(iii.Ysi=
=cos(5) =c050)

=90°

latemi(BCA)
Cis ihatethe

since

We need Topand TCA the vertey. A
of LBCA.

since
C is the vertex
-

B =ds is a
non-vertical line

and XBdXc

so, Ta
=
- (y,, - x)

=

- (4,0 - 3) =(
- 4,3)

E= is a non-vertical line andt
so Tox = -(yc,c

- Xc) =
- (4,4 - 3)

=(-x,-1)
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ice C ma(B(A) =co5')it)· ⑧

=co5')ii"""n)- -

2 - + +1-4

16 - 3=cos'lat)
=cos(z)
=(05'(0.630592625...)
=50.910

Elatemn(CAR Tac and TEe

Ais the vertex

-
EeeAis tothe
- leftof C

Ec =yrx and XA Xc

so Tac
=(YA,c - xx)

=(1,4 - 0)
=(1,4)

-

AB
=oh is a

vertical line

so TAB
=(0,43 -Yx)

=(0,5 - 1) =(0,4)



- Thus,

ma((AB) =co5)lC-cos"n"in I
0 +16

=cos)16C

=cos'4 ↳

=cos" (0.9701425...)
= 14.04

#Arewe have a 900

- atLABC.

- Let's find the side

⑳ lengths of the triangle.#Fr =dn(A,B1=II(t)l=see
-- 6



BC
=d (B,c) = (In(Ei))=in(

I

⑤ots =0.693147...

Ac =dr(A,I/In)irs,i))= (m) l
# =1.847246...

Thus,

AB+BC
=2.402265...

and

Ac* 3.4123...

So, AB+BCF
AC.

⑰(A)+m1)(B(A) +M1)(AB)

= 900 +50.910 +14.04.

= 194.95 -1800


